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No. of Questions/sret &t wear : 120

[ime H4: 2 Hours/&veT ] [Full Marks/quria ; 360

Note : (1) Attemptas many questions as you can. Each question carries 3 (Three)
marke One mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question.
s TE # T S F WA R | TS 39 3 (dF) SR i
% e I & 1T U SiF 1T WA | YA® AIARA T H
YIHT I B |

(2) If more than one alternative answers scem to be approximate to the
correct answer, choose the closest one.

aﬁmﬁmhﬁmmwm%ﬁmm&aﬁmmm
3

F— — m— —
S— —

1. Which of the following effects Do Not work in the direction of reducing
inflationary gap 7

(1) Income Redistribution effect (2) Foreign trade effect
(3) Pigou effect (4) Marshall effect

vﬁﬁmmﬁmmﬁﬁﬂmﬂ%mmmm:Qw
(1) 3 gAfda INE (2) fm =R yWE
(3) dhmE (4) wreie I9TE

(1) (Turn Over)
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18P239723 (1)

2. The problem of inflation in developing economies is a long term probigm.

This view is supported by
(1) Monetarist Theory (2) Structural Theory
(3) Classical Theory (4) None of the above

fawaia 2 § geehifs H wren Sdwets wwven ¥ ) 56 Rur 9 ands B
Rrgra e

(1) MM Rigra (2) st fagra
(3) wmehg frga (4) 3R & ¥ B TH

3. 'Trade Cycle can take place because of technological shock.' This view is
supported by

(1) Hicksian Theory (2) Samuelson's Theory

(3) Real Business Cycle Theory (4) Goodwin's Theory
'wwaﬂﬁmtmmﬁmt " 58 R % qmef v 2
(1) e = fRrgra (2) g w1 frgha

(3) Tt SR @ figia (4) Tefm = Riga

(2) (Continued)
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The permanent income hypothesis that establishes relationship between perma-
nent income and permanent consumption argues that the relationship depends
on

(1) rate of interest, future expectations and taste & preference

(2) rate of interest, ratio of non human wealth to income and taste & pre-
ference

(3) rate of interest, transitory income and taste & preference

(4) rate of interest, return on human capital and taste & preference

rorft 3 afEeT It TRl 3 e et I & i gay wifva S 2, 98
ot 2 fiF 77 gy el w fnk s @

(1) = 2, sfasy 6 yemm, W W W

(2) =9 R, W g qufe @ A F1 79, W @ w7

e

(3) = R, GwAvEITer (Hfe) ¥, 3 @ 1Y

(4) =™ R, TFa gufa | 3R, W @ e

According to the Keynesian model, equilibrium output of an economy may be
less than the full-employment level of output because at full employment

(1) sufficient income may not be generated to keep workers above the
subsistence level

(2) there might not be enough demand by firms and consumers to buy that
output

(3) workers may not be willing to work the hours necessary to produce the
output |

(4) Interest rates might not be high enough to provide the incentive to finance
the production :

(3) (Turn Over)
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v ST 3 SR e e gere o AR 3 I T
B w1 ® i Qo AR =R R

(1) wf = few 0 &R Y i weeh & e iy waiw am e
T B v |

(2) i wd Il g 38 A & HY & fore watw ot 7 @ aadt R |

(3) o 3 62 FW w ¥ R Faw A 9 S 36 INTEH T W FQ F B
AEEF B |

(4) M R T S T8 R TR 30 I A B e ) g v don 3

6. Ifthe Reserve Bank of India lowers reserve requirements, which of the follow-
ing is most likely to happen to interest rates and nominal gross domestic

product ?

Nominal Gross

Interest Rates Domestic Product
(1) Increase Decrease
(2) Increase Increase
(3) Decrease Decrease
(4) Decrease Increase

7fe i fiard S Rl e 1 %5 o @ @ o @ W@ s vwe vy s
i frafaflm § @ 97 watfies g @m 7

il o et SR, 3T
(1) 38 i
2) e e
(3) =i &t
(4) +h e
(4) | (Continued)
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7. The Phillips Curve under the assumption of rational expectation is
(1) Downward sloping in the short run, vertical in long run.
(2) Always downward sloping.
(3} Always vertical.
(4) (antake any shape.
Pyaepsfiet weamn 0 feufa o ffor o
(1) sy 3 4R 6t 3in fren wen aen e 3¢ AW R )
2y =t o fieat g @ |

(3) HeIeu e g |
(4) ot oft STrehm o & FHa R |

8.  Which of the following statements is true with respect to MEC ?
(1) The concept was given by the classical school
(2) Itispositively related with expected series of annuities
(3) Itis positively related with supply price of capital assets
(4) Itis high during recession
MEC % ddy #§ freffa § § #17 w %o 78 2 7
(1) ¥ SEUROT AR §VEHE 10 s o
(2) ﬂimﬁlﬂaﬁmmﬁlﬁ%mmmﬁﬁéﬁa@m%
(3) w@’mmﬁ%qﬁw%mwwﬁﬁéﬁmﬁmi
(4) 7% iR % v S g ?

(5) (Turn Over)
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9.

10.

Which of the following schools supported the assumption that wage and price
remain rigid ?

(1) Keynesianand New Classical (2) Classical

(3) New Keynesian (4) New Classical

Fferfgs 4 @ #1471 avem vl W@ fina ggar © wrmar w awedy wwar @ v
(1) +dws @ T4 g (2) Il

(3) T adram (4) T wrehia

If no foreign company produces in a country but many of the country's com-
panies produce abroad

(1) The country's GNP will tend to exceed GDP

(2) The country's GDP will tend to exceed GNP

(3)  The coantry’s GNP and GDP will tend to be equal

(4) No valid conclusion about GNP and GDP could be drawn

(1) 38 %u = GNP3Ig& GDP @ atfus g
(2) 38 F GDP 3% GNP & a1frs &
(3) 3% GNP Ud GDP @ @t & ae &
4) GNP@GDP%ﬁiuﬁﬁéﬁwg:ﬁaﬁmﬁqgﬁ-ﬂmmm

(6) (Continued)
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Which of the following statements about the Real Business Cycle theory is
false ?

(I) Itargues that trade cycle is caused by supply side factors

(2) A very popular version of the theory has been given by Kidland and
Prescott

(3) Itargues that increase in supply of money can cause cycles

(4) Ittreats technology shock as an important factor for emergence of cycles

arafas AR 5 fagia & day ¥ fefofed § @ 99 @1 % vd 7€ 2 7
(1) 32 g 2 fo =aman = it vefta srol @ 30ga 2 2

(2) va Rigia & T Aid SR FER i fheeive Td Saie g fe ma @
(3) =& wman 2 T gz &t gfd 4 afg =am =% 5 30 = @

(4) & AHAIHI HE F AR W hH IR F TG FRO A 8

According to which of the following hypothesis, consumption is irreversible ?

(1) Absolute Income Hypothesis (2) Relative Income Hypothesis
(3) Permanent Income Hypothesis  (4) Life Cycle Hypothesis
frafefigs § ¥ e aReeqan $ AR SN SHAVIG B R 7

(1) Py s afewea (2) anE 3™ IRFHe

(3) =R 3 REe (4) S =% TREFET

(7) (Turn Over)
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13.

14.

According to Simon Kuznets the relationship between Gross National Product
per capita and inequality in the distribution of income can be expressed as

(1) Decreasing Relationship

(2) Increasing Relationship

(3) Firstincreasing and then decreasing relationship

(4) NoRelationship

AT FIE F HAR vl <Al FFd ¥ AW W@ A7 & faaqw § fawwa
Tay F weqa a1 5 g 2

(1) oed 49 & ¥9 4

(2) @ed T4 & w9 A

(3) uER 7 f wed wav F w9 A
(4) ot oft daw & w9 § 7

As per the Classical Theory of Inflation money supply elasticity of price is

(1) Less than one (2) Greater than one
(3) Equaltoone (4) Not fixed
Torehif & wrefia g & srgan fima £ 551 A ofd s A 2
(1) "% A %4 (2) & ¥ siftrs
(3) T & FUH (4) wfwifa
(8) (Continued)
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As per Keynesian Absolute Income Hypothesis if in the consumption function

C = a+ bY, autonomous consumption Is Z€ro then

m%&@amm%muﬁmWCwMYﬁwmw
= @

(1) APC > MPC (2) APC =MPC

(3) APC < MPC (4) MPC =0
As per Keynes equilibrium takes place only when

(1) Planned Investment = Planned Saving

(2) Realised Investment = Realised Saving

(3) Planned Investment = Realised Saving

(4) Noneofthe above

¥ ¥ oEr grg oft B R 5=

(1 frafm fRw = frafea w=a

(2) wwifea Few = Furfea @=d

(3) Fritf fam = Faied w99

(4) FAE A A A T

(9) (Turn Over)
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17. The Marginal Efficiency of Investment (MEI)

(1) .Shows an inverse relationship between rate of interest and amount of
investment :

(2) Isanother name of MEC
(3) Slopes downward and is flatter than MEC curve
(4) None of the above
Faw $ @i s
(1) =& T @ FEw & o d s gy velif s@ 2
(2) MEC 1 & goq am 2
(3) = &t 3R fren B 2 79 MEC % ¥ Aftrs s gar 2
(4) 3% A A +r§ 78
18. Which of the following is excluded from the calculation of GDP ?
(1) Business buying new furniture for his office
(2) Unsold items converted into inventories
(3) Purchase of shares in Stock Market
(4) Both (2)and (3)
Fefera & @ 39 GDP #) o % wrferey 78 g 7
(1) % =aarft grr 9 wrafed & R wife afen
(2) fod @ @ vt fd wfe = F wife fsar
(3) VI aIWR A @i ™ IR
4) ()@ 3) 3

(10) (Continued)
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19. Which formulation correctly represents the net investment as per the flexible

20.

accelerator theory of investment ? Here /= Net Investment, ¥=Output, K=

Stock of Capital, B = Accelerator Coefficient, & = Rate of depreciation and
! = time

(1) !r=ﬂ(H—K—l) (2) 1|=ﬁ(}:_}’;-l)+§[(rrl
(3) 1,=B(Y,-Y.,) (4) Both(1)and (2)

Praffian 3§ & 2 Faw ¥ dren = figi  sTan ug Faw @ @8 w8 d

T FE R 7 A [ = qg faw, V= 3@, K = §oft wi, B = o e,
S=gad#tar, += gug

(y 1=p(-L,) (2) I,=p(Y-1,)+dK,,
(3) L=8(%,-¥.) 4) ()@ (2) 2

Which of the following would increase the value of the simple spending
multiplier 7

(1) Anincrease in government expenditure

(2) Anincrease in exports

(3) A decrease in government unemployment benefits
(4) A decrease in the marginal propensity to save
g § & F TR 544 S & Jed H 981 &M
(1) @t =94 ¥ 9fg

(2) fafa ¥ 3fg

(3) TR & aoomdt v d =

(4) i s=a ygfa |
(11) (Turn Over)
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21.

22.

How did Keynes propose to solve the problem of high unemployment ?

(1) Increase the growth rate of the money supply.

(2) Allow wages to decline, so that firms will want to hire more workers.

(3) Put on wage and price controls, so wages won't rise and firms won't have
to lay people off to cut costs.

(4) Have the government increase its demand for goods and services.

¥m 3= A0 B T & wyE F o Fn e wd d 7

(1) g i qfd $i 9 = 7 g9fe @
(2) wagh @ ® e Fre 2 R ol s gl i Al W |

(3) Hima otk wgh  F Frafia w e gt @ 3 9 st i # @ s
O F R Al | S 7 FE 9 | '
(4) w@r g et ug et $i qin w=@ @ |

Which of the following will occur as a result of an improvement in technology ?

(1) Theaggregate demand curve will shift to the right.
(2) The aggregate demand curve will shift to the lefl.
(3) The aggregate supply curve will shift to the right.
(4) Theaggregate supply curve will shift to the left.
aat Wfd & o Prefafaa & @ @9 3= @m 7

(1) @om uim 3% i 3R faenfia & smom |
(2) wwm win =% It A fenfya @ smemn |
(3) @ g o gt 3R faeanfa & smom |
(4) wm qfd o Tl o faeenfa & smom

(12) (Continued)
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23, Which of the following workers is most likely to be classified as structurally

24.

unemployed ?

(1) A high school teacher who is unemployed during the summer months

(2) Arecent college graduate who is looking for her first job

(3) A teenager who is seeking part-time employment ata fast-food restaurant
(4) Aworkerwhois unemployed because his skills are obsolete

Wﬁﬂﬁﬁﬁﬁmmammammmmu
(1) ﬁﬁmmﬁﬁlﬁsﬁnﬁ%uﬂiﬁaﬂwwa

(2) Wﬂﬁﬁwﬁwﬁmﬁmmm@ﬁtﬁi

(3) @ﬁmﬂtaﬁﬁ:@ﬁmt@mﬁmﬁﬁmmmﬁ

(4) o S o e 5 SR R 3 o Hem

As per M Keynes variations in the bank rate influence economic activity through
their impact upon

(1) Short Term Rate of Interest
(2) LongTerm Rate of Interest
(3) Both Short and Long Term Interest Rates

(4) Has no impact on the economy at all

a,@.m%mﬁaﬂmmmﬁmmmam
@ e }

(1) FeTsEiE =& T
(2) rdwreia s T
3) e T A e g
(4) ardfegaen W HE yE TE T
(13) (Turn Over)
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25. Assertion (A) : There is automatic change in net tax revenue when level of
output changes. :

Reason (R) : Automatic stabilizers moderate aggregate spending in timcs of
boom and slow down

Codes :

(1) Both(A)and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A)and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false

(4) (A)1s false but (R) is true

Affwm (A): g?mmﬁm@mammmwﬁm:m
|

T (R): IR i w a5 s i 3§ w9 o w0 3
F :

(1) (A)W(R)ﬁﬂﬁ%wm),(A)ﬁwmmi

(2) (A7 (R) 31 7@ & R (R), (A) 98 =amen 3¢ Fa 2

(3) (A) =& 2 fg (R) e R

(4) (A)7em @ feg (R) =t @

(14) (Continued)
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26. Gross fiscal deficit of the State Governments is financed by
() Market Borrowings
(I) Printing of currency
(III) Loans from the Central Government
(IV) Extemal Borrowings
Find the correct answer from the given codes
Codes :

(1) I, I1and III are correct
(2) II,IIand IV are correct

(3) - Tand I1I are correct
(4) IlandIV are correct

U5 BT W1 e Twsg ur fEAadifta R s @
(I) «9IR W gRI

(1) T & 450 g

(II) ¥ TR F B & g
(1v) fasft =o grr
fPrafefaa $2 @ ot 3w 3R
<

(1) LU I wéd

(2) ILIIIIVahe

(3) Ial#@?

(4) HaIved?

(15) (Turn Over)
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27. Inastagnant economy, a government should:
(1) Spend more, tax less and/or pursue an contractionary monetary policy
(2) Spend less, tax less and/or pursue an expansionary monetary policy
(3) Spend more, tax less and/or pursue an expansionary monetary policy

(4) Taxmore, spend less and/or pursue an expansionary monetary policy
TfE ardezawn § g & afke

(1) i =q FT1, FH F AT AYT/ a1 THIAFR] FNigan Al H FLA0 HEAT
(2) &9 4T T, T W o aw/ e femad few f F1 smem Fo
(3) v = Fe, w9 R A aw/ ean fawaag) Wi i # S F
(4) st = ST, FH Y O a1 /e R At i s wm

28. Fiscal deficit less interest payment is called

(1) Net fiscal deficit (2) Monetised deficit
(3) Primary deficit (4) Budgetary deficit
gy ur R s it sgreft wifter 3 &, B wEd £ -

(1) T@ THE T2 (2) T o

(3) wufde rer (4) T91T T

(16) (Continued)
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29.  Which of the following is not one of the objectives of the tax reforms in India ?

30.

(1) Reduction in multiplicity of custom duty rates
(2) Improving tax compliance
(3) Widening the tax base

(4) Suggesting ways to increase the share of indirect taxes in the total tax
revenue

w3 F-gurl o 3R Pt § d S w T R 7

(1) dmges g0 6 Fg=ar & FH

(2) IR # FaR

(3) W amm i Frga w0 | .. |

(4) @ R T ¥ s F F wm A i F F 7l B g
Equity in Taxation can best be achieved by applying the principle of

(1) Equal Absolute Sacrifice (2) Benefits |

(3) Equal Marginal Sacrifice (4) Equal Proportional Sacrifice
P frgrea 1 ST FO & v § Fafis a S B R 7
(1) @9 Frde =m (2) @™

(3) e W (4) R SR T

(17) (Turn Over)
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31. According to Dalton, the total social advantage becomes maximum when

32.

taxation and expenditure are carried to a point where

(1) Marginal Social Sacrifice (MSS) > Marginal Social Benefits (MSB)

(2) Marginal Social Sacrifice (MSS) < Marginal Social Benefits (MSB)

(3) Marginal Social Sacrifice (MSS) = Marginal Social Benefits (MSB)

(4) None of the above

3T & IFTTEN, Tohel AHIRrR oy JAfishan & ST @ 5| FI09 3t =29 #i 39

famg 7% @ S Sy el
(1) o gmfs @ (MSS) > dir amifers =1 (MSB)
(2) dmra wmfers @ (MSS) < dWr amfas =19 (MSB)
(3) mmm(ﬁs&w%mmm(msm
(4) 39 7§

Public goods are not characterised by

(1) Non-rivalness (2) Nonl-.cxcludabilily
(3) Contestability (4) Free-riding
ﬁmﬁrf@aﬁaﬁqﬂﬁﬂmmﬁaﬁm%aﬁﬁﬁiﬂwma
(1) R-wqutera (2) -afesomena
(3) whgfRa (4) g% wardt

(18)
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The Lafler curve demonstrates the relationship between
(1) Inflation and the nominal interest rate

(2) Tax rate and total tax revenues

(3) The real interest rate and investment demand

(4) None of the above

AR 9% T TGRIa W R}

(1) g ¥ar 3 T (nominal) & T & i

(2) - AU FA B AW & &

(3) anfy® s 2 aun fafadm wm & s

(4) 9% A B F§ T

Which of the following is not an instrument of Fiscal Policy ?
(1) Public Revenue (2) Cash Reserve Ratio
(3) Public Borrowing (4) Public Expenditure
P 1 @ @ @ T ARy 3T A R 7

(1) |t A (2) 7@ fwd 3rge@ (CRR)

(3) adaf F0 (4) oS =T

(19) (Turn Over)
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35. Marginal cost of pure public good is

(1) Zero or close to zero (2) One

(3) (1)and (2) both (4) Veryhigh
W3 e F6g @ e R

(1) Ta RS fwe (2) @

(3) (1)@ (2)3F (4) wga i

36. An agreement between two countries to maintain a free trade area, a common
external tariff, free mobility of capital and labour and some degree of unifi-
cation in government policies and monetary policy is called |

(1) Common market (2) Freetrade area

(3) Economic union (4) Custom union

g% SR &3 A TR 3R wm A M, §oft i am A frafy afifrear sin
mmm%mﬁ@mwmmm%mam%
9 1 T TR B F@ T2

(1) =i arke (2) 9 =R &3

(3) anfds wa (4) w2 g (e am)

(20) (Continued)
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37. The core principles of multilateral trading system are :
. Nondiscrimination
II. Reciprocity
M. Protectionism

IV. Domestic safeguards

Select the right code from the list given below :

(1) I,ITand IV are correct

(2) I1andIII are correct

(3) II,IIiandIVarccom:ct

(4) Iandilarc-;:.orr;ct.

aguefra =R vgh ¥ e Rgra @
L S

[ g

M. WEvEmR

IV, e g I

4R & gt A wh g T == A
(1) LusRIveat

2) Hariadt

(3) I, Mk IveadhE

(4) 13 IIwde

(21) (Turn Over)
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38. Which of the following is not an assumption of comparative cost theory ?
(1) There is free trade between two countries.

(2) All labour units are homogenous.

(3) Factors of production are perfectly mobile between the two Cuu.'-nries.
(4) There are only two countries.
fr=feifed 3 @ #19 gemTrs arm figra 6 a=yar 78 ? 7
M 3 v & 9 w@aa =n R |
(2) W & v A @ W
(3) i 2w % = I F T quiaan e €

(4) ¥R E

39.  Which of the following is not related to World Trade Organization ?

(1) TRIPS (2) FEMA
(3) TRIMS (4) Uruguay Round
= % & W o fava =R deR ¥ gt T R 7
(1) B (2) ¥
6) R (4) 3 T
(22) (Continued)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



18P/239/23 (1)

40. Sclect the correct statement out of the following :

(1) Multilateral Trade Negotiations are a process of increasing tariffs of
trade among member countries.

(2) Multilateral Trade Negotiations are a process of increasing non-tariff
barriers to trade.

(3) Multilateral Trade Negotiations are a process of increasing tariffs but
decreasing non-tariff barriers to trade.

(4) Multilateral Trade Negotiations are a process of reducing tariff and non-
tariff barriers to trade among member countries of WTO,

At # & Tl P 1 R
(1) wuafa SR FHE HEE 297 & 19 9K Tl H gfG F R wfra |
(2) wguefa SR FRE SR & K- ! B T 9 R

(3) wgtsfiy =R GHAA FTH F qGH TG HOR F N-NYH G0yl H
e $i wfser R |

(4) wEUET SR THER Tecq, & 3. F FGH W o= AR W AR K-
yYee St H FH & H W R |

41. Offer Curve of a country is derived from

(1) Its Production Possibility Curve (2) Its Community Indifference Curve

(3) Relative International Price Ratio (4) All of the above
Rt 291 o1 weaa T Pt & Prefa R s}

(1) 3a% I FOEA1 a5 @ (2) Ia% WHTHA A 5 |
(3) anife SRigE A S @ (4) IR el

(23) (Turn Over)
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42.

43.

44.

Absorption Approach is also known as
(1) Price Effect of Devaluation (2) Money Effect of Devaluation

(3) Income Effect of Devaluation (4) Both(1) & (3)

e ST @ PR w9 3 s T o R
(1) Haqed H FHd TG (2) HaqeEA & Hgl g9
(3) YIS F I IWE (4) (1)@ (3) 3

International Banking is regulated by

(1) IBRD (2) BASEL Committee
3) IMF 4) G-7

sty A w1 e e o 2

(1) IBRD g/ (2) *wa wivfa g

(3) IMF gm (4) G-7 @

Which are relevant conditions assumed by the factor price equalization theo-

rem ?

L  The countries are characterised by different factor endowments.
. The countries are characterised by different production functions.

M. The industries are characterised by different factor intensities.

IV. Each country will export the commodity which uses its abundant factor

relatively intensively.

(24) (Continued)
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Codes :

(1) LILILIV
(2) LINLIV
(3) LILIV
(4) LILII

T ia G T (factor price equalization theorem) g1 o wicil 1 it
o T R 7

[ i 3uee e &t 2 i i fashyar 2 |
1. 4% 3urer e 1 am1 o 6 faswan 2
M. frs s weaet & E I 6 s @

IV Yo% 30 36 &g &1 (4afd F0m S 39 T4 Y 1 IS ®9 8 e
o ITA FHAT |

(1) LILOLIV
(2) LILIV
(3) LILIV

(4) LILI

(25) (Turn Over)
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45.

List-I List-11
(a) Export pessimism (1) A.Emmanuel
(b) Unequal exchange (ii) R.Prebisch
(¢) Critical Minimum Effort thesis (iii) J. Schumpeter
(d) Innovations Entrepreneurship (iv) H.Liebenstein

Select the correct matching option given in the code :
Code:

(a) (b) (c) (d)
1y @ ) (@) (v
(2) (i) (1) (iv) (i)
3) Gi) Gv) (i) (i)
@ Gv) Gi) (1) (ii)

-1 g=-11
(a) Frafa Ao (1) © wagHd
(b) rgurH fafama (i) e M
(c) TrftegTens =gan ware S (i) 9 yEfe
(d) -y (iv) U, R
fég M e 6 wewar & wd A W v i

R :

@ (b (c) (d)
(H @ Gy G o Gv)
2) Gi) (@) (iv) (i)
3) (i) @v) (1) (i)
4) (v) () (1) (i1)

(26) (Continued)
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46. Which of the following are the characteristics of the traditional society in

47.

Rostow's stage of growth ?

(a) Limited Production Function

(b) No Government Intervention

(¢) Pre-Newtonian Science & Technology
(d) Dominance of Agricultural Activity

(1) a,bandd

(2) a, bandc

(3) a, candd

(4) b,cand d

Srefirfiaa § @ @1 T & TEIOT W # IREE R 7

(a) Wfia SeaTeA Fer

(b) TSI H HEEE

(c) A fagm T aich

(d) P s

(1) a,b@d

(2) a b 113 c

(3) a,c@d

(4) b,c@d

Despite being a high saving economy a developing country may still not grow
fast primarily due to

(1) Weak administrative system (2) Illiteracy

(3) High population density (4) High capital output ratio

quaﬁmﬂahﬁmm-iﬁ#w!ﬁﬁn&m%mﬁﬁm?ﬂ
Al

(1) FweR yaaf gu (2) s
(3) I= FHEEA T (4) 3= Yolt-Ieqme T
(27) (Turn Over)
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48. Directions : The following items consist of two statements. 'A’ is assertion
and 'R’ is reason. | |
You examine these two statements carefully and select the answer using the

code given below :

Assertion (A) : The doctrine of unbalanced growth is bascd on creation of
imbalances in the economy in a conscious manner.

Reason (R) :Unequal development of various sectors often generates condi-
tion for rapid development.

(1) Both (A) and (R) is individually true and (R) is the correct explanation
of (A)

(2) Both(A)and (R)1s individually true and (R) is the incorrcct explanation
of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R) s true

fdw: Foofafea aRt 5 argds glam & o R @ e S 5w w
I A T 2 AR TR E |

Tl (A) :38dfera faem #1 fagra srdorawen § gua7 srbqe 3099 &6 T 3yt
2l

&1 (R) : fafira &3 a1 srmgfera fawm arraan dig snfiles faam 6 ket s
Tl 2 |

(1) (A)aen (R) 31 7= & 30k (R) (A) #7 5ewr 2
(2) (A)@n (R) 31 & # 3R (R) (A) 1 Fo 78 2
(3) (A)w R fg (R) 3w 2

(4) (A)3w R g R) v 2

(28) (Continued)
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49. The hypothesis that the degree of inequality of income increases at initial
stages and declines at latter stages in the development history of nations has

been propounded by
(1) R.F. Harrod : (2) SimonKuznets -
(3) J.R.Hicks . (4) T.W.Schultz

mmﬁmﬁmgﬁm%aﬁ%aﬂmm%sﬁmﬁmﬁ
Tt 3 3R A F wed @, e g wRafia R R 7

(1) 3 T, S (2) TH, FoE
(3) A 2, fRaw (4) 8. ==Y, g

50. Which of the following variable is not included in the calculation of compo-
 site HDI index ?

(1) GDP Index (2) Education Index
(3) Life Expectancy Index (4) Deprivation Index
ﬁﬂﬁﬂmmmﬁgﬁﬁ.ﬂ.maﬁmﬂmﬂ!‘mt?
(1) &, A gEHH (2) fen gEHS

(3) S S gEH (4) T GIH®

(29) | (Turn Over)
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51. Match list I with list IT and select the correct answer using the codur:; given

below the list :

List-1
(A) Stationary state
(B) Unlimited supply of labour
(C) Knife Edge equilibrium

(D) Theory of cumulative causation

@ ® ©
(1) G) @) (i)
@ (v Gi) )
G) Gi) Gi) @)

-,

4) Gv)- (i) (iii)

(D)

(v) -

(ii)
(iv)
(ii)

List-11
(i) W.A.Lewis
(it) G Myrdal
(iti) Harrod Domer
(iv) A.Smith

wEt I @ gt 11 1 frem it ofk R g e waharet & amam o oft s d

+@_I
(A) wfas JFen
(B) ity 3w gfd

(C) g 4R dger
(D) wadtw g

A @B (©
() Gi) (i) (iii)
@) (v) (i) (@)
3) @) (i) @)
4) @(v) (1) (1ii)

(D)

(iv)

(ii)
(iv)
(ii)

(30)

gei-11
(i) w=g ¢ afm
(ii) . ... freTe
(iii) &e S
(iv) v fem

(Continued)
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52. Which one of the following factor is stressed by Schumpeter in his theory of

economic growth ?
(1) Innovations (2) Laissez faire
(3) Population growth (4) Surplus value

Wu@mﬁﬁﬁﬂ#ﬁ@ﬁﬁ%ﬂﬂawmwa ?
(1) Fayad (2) FrEwd
(3) e 9% (4) At e

53. The Big push stratcgy of development was first advocated by

(1) Rosenstein Rodan (2) Simon Kuznets

(3) W.A. Lewis (4) A.O.Harschman
e F vad w1 Rz # g fem faan 7
(1) VA TeH (2) TW. FIIH
(3) &g, T Wi (4) T, 3N, THA
(31) (Turn Over)
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54. Consider the following statement :

The knife edge problem in the Harrod-Domar growth model implies a constant

. Rate of population
. Output
. Rateofsavings

IV.  Capital output ratio

Thus choose one of the following options :

(1) IV alone is correct
(2) land]II are correct
(3) I, and Il are correct

(4) LIIandIV are correct

AT a9y e &

2UZ-Bh uiee # 91 ur e &1 Y R wuH

L s afg e
. 3I9R]
[l. sEa§|

IV, {ofi-3em awm
W:ﬁﬂﬁﬁﬂ,ﬁﬂﬁ:

(1) ¥AIV a7 &
(2) Ian e §
(3) LIawmIllaxg

(4) LUlanivaxg§

(Continued)
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55. List-] ‘ List-11
(a) Unbalanced growth (i) A.O. Harschman
(h) Rand D and growth (n) K. Marx
(c) Human capital and growth (iii) P. Romer
(d) Surplus value and accumulation (iv) R.Lucas

Select the correct matching option given in the code :
Code:

@ () (c) (d)
M @ G G (W)
@) Gv) @) G )
(3) () i) () (i)
@ @Gy @ @0 (ii1)

-1 g&f-1I
(a) aragfera fwE (i) U 3N TWH
(b) Rt D fawmE (i) &, W
(c) wra et 3t far (iii) o T
(d) R IFa T W (iv) TR, e
ﬁqm@ﬁﬂm%uﬁﬁammﬁ:

%
(a) (b (c) (d)

1y G G G W)
2 (v @) @ 0
3) () @i @) ()
@ @) @ O (iii)

(33) (Turn Over)
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56. According to Solow, the long-run rate of growth in an advanced ceonom
equals Harrod's

(1) Natural Rate of Growth
(2) Warranted Rate of Growth
(3) Actual Rate of Growth

(4) Warranted Rate of Technical Progress

|Ieht % SgE, 0 fwfira siefegaeen § ddweh vafy # @ ava o 2, 20T %
(1) gl w1l @

(2) sf=oa (smaia) @9 =

(3) arfaF w3l

(4) AR wife ) 3fesa o (snearfa <)

37, List-1 List-11
(a) Physical quality of life index (i) W.W. Rostow
(b) Organic composition of capital (i) R.F. Harrod
(¢) Warranted rate of growth (11i) Morris D.Morris
(d) Stages of growth theory (1iv) Karl Marx

Choose the correct matching option from the given codes :
Codes:

(@  (b) (c) (d)
(1) (v)  @ii) () (ii)
(2) Gii))  (Gv) () (i1)
() () Gv) @) ()
4) Gi)) Gv) (i) (i)

(34) (Continued)
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- il
(a) fie gEw A e qoEs (i) wcg, eocg, URE
(b) st = AT wARA (i) @R TH, 208
(¢) wafg H smvariea g (iii) wfem &1 wiftE
(@) wafe frgra it sl (iv) &t "
ﬁqwﬁzﬁmﬁaﬁﬂamwﬁﬁm

%2
(@) (b) (c) (d)

(1) @v) (i) @) (i)
(2) (i) (V) (1) (i)
3) () G @G O

4) (i) @Gv) (i) (1)
Solow built his model as an alternative to
(1) Kaldor's model of growth

(2) Ranis-Fei model of growth

(3) Meade's model of growth

(4) Harrod-Domar model of growth
e 3 s wtewt freds e & w9 fffla fen ?

(35) (Turn Over)
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59. What is the correct sequence of the following approaches to development in
terms of their chronological emergence ?

(a) Per capita income approach

(b) Basicneeds approach

(¢) Human Development Index approach

Choose the correct answer from the codes given below :
Codes :

(1) ab,c

(2) b,a,c

(3) b,c,a

(4) achb

fawm & Fefafea e & 9% anfivia & sesraen o su = 2 7
() witveafes s gfe=prr

(b) HenE avaFal 3w

(c) wma fasma qaEehiss gfesh

Fraforfea iy ™ %2 4 & ot sw =

5 _

(1) ab,c

(2) b,ac

(3) b.c,a

(4) acb

(36) (Continued)
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60. The physical quality life index'PQLI' is based on

61.

(1) Percentage of literacy, infant mortality and life expectancy
(2) Adequate supply of food, water, shelter and health services
(3) Provision of sanitation, education and welfare measures
(4) Al that's mention in (1), (2) and (3)

s e T g (PQLY) few w smeia & 7

(1) ween @ s, frg 70 afv S wearm & wiowa ®
(2) @mE, 94, 3o TE e ghwet i wf g

(3) T, i qu FAm $ Iqereua

4) (1), (2) 3k (3)

Demographic dividend refers to the rise in population

(1) Between the age group of 1to 14 years

(2) Between the age group of 15 to 64 years

(3) Between the age group of 65 to 74 years

(4) Above 74 years
mﬂﬂﬂmﬂﬂﬁﬂﬁmmaﬁq&%mﬁut ?
(1) 131478 S Y TR §

2) 15364TH g 98 ®

(3) 657 743 % Y WK &

(4) 7494 4 S

(37) (Turn Over)
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62.

63.

64.

The progress of economic development refers to

(1) Growth of national income over time

(2) Growth of per capita income and standard of living

(3) Full employment of the entire population

(4) Growth of national income with structural changes in the economy
e fam & g @ od 2

(1) =% a™ T - F 96

(2) wmafs sm @ faa w w T

(3) wwy SAEE & forg qof e

(4) iIE | WIS TREdd & Gy a3 W "a

Marx refers to the concept of organic composition of capital. Which one of
the following ratios stands for this ‘Where ¢ is constant capital, v is variable
capital and s is surplus value'.

ard §oft < e demm it v @ ) A A @ 2w s A e 2
&l TR §oft, v afadmfie goft, s—orftRes qea & |

(1) clv+s) (2) civ
3) cle+v) = - (4) (c+v)v
Disguised unemployment generally exists in
(1) Manufacturiﬁg sector (2) Agriculture sector
(3) Small scale indusﬁes (4) Urban societies
wea= At R e fred e § 2
(1) fafiwior &= & (2) Ff &3 &
(3) g weim & ORGEC L
(38) (Continued)
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65. Directions :  The following items consist of the two statements. 'A’ is
assertion and 'R’ is reason.

Assertion (A) : Technological changes is regarded as an important factor in
the process of economic growth.

Reason (R): Changes in the technology leads to increase in the productivity
of labour, capital and other factor of production.

You examine these two statements carefully and select the answer using the
code given below :

(1) Both(A)and(R)is individually true and (R) is the correct reason of (A).
(2) Both(A)and(R) s individually true and (R} is the incorrect reason of (A).
(3) (A)is true but (R) is false.
(4) (A)is false but (R) is true.

frewr - Tqire 2 9 ey U i A R o wEaT F g W IWE | ‘AT T

2 @ 'R ¥R |
T (A): wfifs dafy § vhra # aeAh wiadd o e FRE A
e & |
% (R) : aaiE 3 aftada A am, it ol Iae F o= Wl H IeqeEa
igfagddt R

(1) (A7 R) ¥ w & R)(A)FF@FO R |
(2) (A)aur (R) 3 & &, (R) (A) %1 7o HRU 2 |
(3) (A) @ & afF (R) e 2 |
(4) (A)7em & AfFT (R) & & |

(39) (Turn Over)
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66. Directions: The following items consist of the two statements. ‘A 1S
assertion and 'R’ is reason.

Assertion (A) : The growth of per capita income in India is slow.

Reason (R): Indiahas experienced a high growth rate of population.

You examine these two statements carefully and select the answer using the
code given below :

(1) Both (A) and (R) are individually true and (R) is the correct reason of (A).

(2) Both (A) and (R) are individually true and (R) is the incorrect reason
of{(A). :

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

A : Frafafea =1 # AgEs Te it i 3T T gehaml it g7 w3t 1A

awed & a9l 'R' &R |
s (A): s o sfa st o gfg o it & )
RO (R):  WRa 3 39 SeEn gfg @+ spva R R )

(1) (A)@ (R) 2 78, (R) (A) F1 & F10 R |
(2) (A)au (R)3Hi &8, (R)(A)wmm‘h
(3) (A)=# 2 AfF (R) e R |
(4) (A)7era R afF (R) @@ ¥ |

(40) (Continued)
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67. Economic developmentisa

. Continuous process

[I.  Short term process
[1l. Long term process

Answer by choosing any one of the following :
(1) II alone is correct

(2) 1and 1l are correct

(3) III alone is correct

(4) Iandll are correct

anfefes faerma 2
. oda wised
[I. aYeaeTers Tiswal

M. et gfsean

fre A U feed T W IWM
(1) %aa 11&d

(2) la=n I&&

(3) ad [ wd

4) Tanllad

(41) (Turn Over)
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68. Disguised unemployment refers to the situation when ?

69.

(1) People scems occupied on a full time basis even though the services
they render required less than full time.

(2) Workers are unpaid despite doing full time job.

(3) There is a coexistence of unemployment and inflation.

(4) The economy experiences under employment equilibrium.

yeod atw e 3 @ @ | fefa 2 ?

(1) waft s qistas §9 @ Frf@ o 2 Fafh 7 g ved Jan e 3
#9 g9g § YeA F 1 FhT 2 |

(2) it Y yrae TE W S FafE A QUi T # HRIE Fd 2 |
(3) weehifa qu St #1 wg-sifer |
(4) Fefegaedn ¥ YU GqoH UG & NI F 2 |

Which of the following sequence correctly depicts the 'Vicious Circle' of
poverty ?

(1) Low income— low investment-—- low demand— capital deficiency
(2) Low investment— low income - low saving— capital deficicncy

(3) Low income— low demand— low investment— capital deficiency
(4) Low investment— low saving— low income - capital deficiency

= @ 9 @ el & graw 9@ w9 F gular @ 7
(1) P s e Few- B ame- G 6 =

(2) = REw- = sm— e a9 Gt A g
(3) F= sm— f= wm- = fEw O i =g
(4) f= fen- e a=a- e s 46t 6

(42) (Continued)

[ ]
gcollegedumas
India’s largest Student Review Platform

—



18P/239/23 (1)

70. The utilisation of disguised unemployment as a SOurce of saving potential in

71

72.

underdeveloped countics was suggested by

(1) R.Nurkse (2) P.Baran

(3) R.Harrod (4) W.W.Rostow
o i o wd ffa gl d s=a T &9 A 0 % g e

(1) R T 2) t, TWH
(3) W, &E - (4) T, oY, AR

 Who defined India's problem as one of ‘primary accumulation of capital' ?

(1) A.K.DasGupta (2) N.Kaldor

(3) V.K.R.V.Rao (4) J.R.Hicks
e e e A e Gl % wafie gEad R e we ?

(1) T % RETHI (2) T, FAT
(3) &t %, IR 9l T4 (4) =, I, BT

Which of the following model is considered very close to Mahalnobis Model ?

(1) Feldman (2) Solow

(3) Kaldor (4) Joan Robinson

(43) v (Turn Over)
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§

74.

75.

In case of a Giffen good, the income effect

(1) More than offsets the substitution effect
(2) Isequal to the substitution effect

(3) Reinforces the substitution effect

(4) Only partially offsets the substitution

i aegait & e # sy

(1) e e @ sl a2

(2) it o & s g 2

(3) witemaa wuTa 9 afer wwar 2

(4) %@ T W o NoruTeT s B AR HE 2

When average product increases, the marginal product is

(1) Less than the average product (2) More than the average product
(3) Equalto the average product (4) None of the above

@ 3itea e wga @ | Wi Iee
(1) ofvea Ieqe & wu dar 2 (2) sftwa T & wtfyss dar 2
(3) ¥a I F FU B 2 (4) 3T & & Fd 747
Quasi-rent is
(1) Price— AVC (2) Price—AFC
(3) Price—(AVC+AFC) (4) Price - MC
AT T T B R
(1) Price (dmd) - AVC (2) ®mE- AFC
(3) #md—(AVC +AFC) (4) $ma - MC
(44) (Continued)
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76. Who defined rent as the reward for use of original and indestructible powers

of the soil ?
(1) Marshall (2) Joan Robinson
(3) Jevons (4) Ricardo
ﬁmﬁwaﬁqﬁﬂmqﬁmﬁmﬁmﬁ%m#mﬁaﬁmw
| ?
(1) wmfe (2) S W
(3) a8 (4) el
77. In case of two perfect substitute commodities, the marginal rate of substitution
15
(1) Constant (2) Unchanged
(3) Increasing (4) Decreasing
2 et sferesm gt & o Wi i i AR
(1) fer (2) afEfda
(3) o & (4) v

78. Supply curve of the short run competitive firm is the same as
(1) Short run Marginal Cost (SMC) curve
(2) Average Variable Cost (AVC) curve
(3) SMC curve above AVC curve
(4) SMC curve above Short run Average Cost (SAC) curve
sreqsT § it v @ gff 3% f
(1) regseia i @ma (SMC) 3%
(2) 3haa wREdadie @ (AVC) 35
(3) AVCaF % IR SMC %

(4) Feqareia ffea arTd (SAC) 3% & F3T SMC T#
(45) (Turn Over)
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79. Leontief isoquant is
(1) Parallel to the axis with a kink
(2) A line with no kinks
(3) A line with many kinks
(4) A smoothcurve
forafes =1 anier a5 g 2
(1) fag=m & 9 31y F guARR
(2) T W tan
(3) 3= fag=a wfta Yan
(4) fisHio S
80. When income falls, what happens to the liquidity preference curve ?
(1) Itdoes not shift
(2) It shifts to the left
(3) It shifts to the right
(4) It becomes parallel to the vertical axis
i 3 H FH1 el R, 7@ avera e a6 it = el A @
(1) 7% wamwaRa T8 g 2
(2) a8 «fl 3R TR B 2
(3) % Qe R wAaRE g 2

(4) Ig TEET NG $ THE & AT 2

(46) (Continued)
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81. Which one of the following cost curves is not U-shaped ?

(1) MCcurve (2) ACcurve -
(3) AVCcurve (4) AFCcurve

frferfes a9 4 @ 99 T U~ F1 7 qar R ?
(1) MC = . (2) AC &%

(3) AVC % (4) AFC

82. When elasticity of demand under monopoly is equal to one, then Marginal
Revenue will be

T mﬁaﬁnﬁ@amﬁd%mﬂataﬂﬂmmmﬂnm

(1) MR=0 2) MR=1 (3) MR>1 (4) MR<1
83. In Hicks-Hansen theory of interest, an increase in money supply leads te

(1) Rightward shift of IS curve

(2) Leftward shift of IS curve

(3) Rightward shift of LM curve

(4) Leftward shift of LM curve

-t & e g B, A A a3 q

(1) 1S 7% H IR S T '

(2) 1S o 1 qfl A TR

(3) LM T & qifeeht 3R T

(4) LM 3 % Tl 3w

(47) (Turn Over)
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84. Who among the following held the behaviour of population as an obstacle to
economic growth in initiating the process of growth 2

(1) Lewis (2) Leibenstein

(3) Rostow (4) Rodan

Frerfefaa & & e st faera ) wien yow &0 & g & 9w
e s aus o 2 ?

(1) fofm (2) Rrdfes

(3) == (4) Usm

85. According to Nurkse, developing countries will have serious and adverse
effect on their balance of payments due to which of the following ?

(1) Backwash effect (2) Spread effect
(3) Demonstration effect (4) Multiplier effect

7 & JgER fefifa 3§ 3 R sno Rt o ' '
i SR e T 7 ot YTaE §ga7 W T

(1) wfefém e (2) fo=m warg
(3) figd wwma (4) T ¥91E

86. A nfonopclist will fix equilibrium output of his product where the elasticity
of his Average Revenue curve is

(1) Zero (2) Lessthan one
(3) Equaltoone (4) Greater than one

T TR 319 TG i weger IeaTed dar Rt F3om
by el 39% 3fwa v T

(1) 1= (2) 718 A 3
(3) ¢ % T (4) 78} arfis

(48) (Continued)
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87. Marginal Revenue will be negative, if the demand is

(1) Relatively clastic (2) Relatively inelastic
(3) Perfectly elastic (4) Unitary elastic
i ST Foees 2, afe wiT &

(1) B AR (2) BN SR

(3) Toia: SR (4) 3373 TR

88. Situation of bilateral monopoly exists when

(1) Two sellers face two buyers
(2) One seller faces two buyers
(3) One seller faces one buyer
(4) Two sellers face a few buyers

fuefty T $) fufa 7 ad R =
(1) 21 s & st o AT FA &
(2) wE Rk 3 el A @ R
(3) e T G a1 B A HE
(4) 2 Frban o it F1 A A §

89. The objective to establish MUDRA bank is
(1) To promote banking habits amongst weaker section |
(2) To provide assistance to the informal sector and demestic small business

(3) To provide assistance to the corporate sector
(4) To promote financial literacy

mzi (MUDRA) ¥ & TaT1 %1 329 2
(1) o Al § A aTed B Sieaned FE
(2) s &% T He 91 Il B qEgEd Yo el
(3) frmiftg &= + gEgar g
(4) faia weran (foam) = Mearfea FE
(49) (Turn Over)
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90. The condition of optimal allocation of goods A" and Y between two consumers
A and B under perfect competition, according to Pareto, is

A F AR, P wfedfren & s=fa, 4 sk B 3 susdiweti & @= X ok v
FEGON % AN A i g B

(1) MRS, >MRSE, (2) MRSS, <MRS},
(3) MRS), =MRS?, (4) MRS}, = MRS®, =0

91. Productivity of Indian agriculture can be enhanced by
(a) Increased public investment
(b) Increased irrigation facilities
(c) Shifting workers from industry to agriculture
(d) Higher support price to the farmers

Select the correct answer from the codes given below :

Codes :
(i} a, b, ¢ (2) ¢, d. a
(3) a, b, d (4) b, c, d

NI Y Ieargarar =i Fraforflaa gro e <1 g 2
(a) <% fFaw = TgrER

(b) f&=r glawmedi g

(c) =i = 3=m A FR F 3w ¥ =W

(d) Ful F IR TEAF HMd 2 F

= fou e %2 | @ 5f I o T =
% :
(1) a, b, ¢ (2) c.d, a
(3) a, b, d (4) b, ¢, d
(50) (Continued)
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The following factor was not considered by the 14th Finance Commission In
determining the States' share in the divisible pool

(1) Population (2) Demographic change

(3) Income distance (4) Fiscal discipline

ﬁmnﬁr(pmuﬁuﬁﬁmmmw%ﬁmaﬁaﬁﬁmmm
frferfiagg § @ 19 w1 w1 T8 o ™ 7

(1) SaEa (2) st aftada
(3) smazh (4) TN ST

(i) Introduction of Rolling Plan

(ii) The movement from planning to market mechanism
(iii) Nehru-Mahalanobis model
(iv) Declaration of plan holiday

Choose the option having the right chronological order.

Code .
(1) (i) (i) Gv) () (2) (i) (iv) () (ii)
(3) (i) (v) (@) (i) 4) () (i) (i) (@v)

(i) Ufem = F T | _
(ii) Privem & aTan Grafafy (et H A wEe

(iii) FEE-HERATE HSS

(iv) A S 2
aﬂmm%f&mmwﬂm

% : - . T
(1) () @ii) @(v) @) (2) (i) @v) (@) (D)
(3) (i) (v) () (i) (4) (i) @ii) (i) @v)

{51) (Turn Over)
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94. The general methods used to solve industrial disputes in India are
(a) Collective bargaining |
(b) Compulsory arbitration
(c) Adjudication
(d) Decision by trade unions

Choose the correct combination of methods from the following codes
Code :

(1) aand b ‘ . (2)band c
(3) band d (4) a and ¢

WA 7 et farg) %1 g A & forg Iwdm it 18wy ugh 2
(a) \nfEs dREm

(b) ¥fead faamm

(c) ftfig

(d) weieg gt F Fof

frefeifias %2 & v g =1 957 i |

E T

(1) a@urb (2) bawe

(3) baud (4) a 991 ¢

95. Which of the Five Year Plan has laid emphasis on 'faster, sustainable and incte.
sive growth' ?

(1) Eleventh Five Year Plan (2) TenthFive Year Plan
(3) Ninth Five Year Plan (4) Twelfth Five Year Plan
forw el e 3 ‘s A et aan wER Hafy T fr 7
(1) vl veadfa g (2) e vaadfy g
(3) At Taadfa dem (4) et vaafia A
(52) (Continued)
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96. As per the latest SRS data, which of the following age group has the lowest
age-specific fertility rate in India ?

mmm%m%tmmﬁﬁn&vﬂwm—mﬁﬁmmﬂ‘w
£ arrg-fafire yora Witk gan 8 7

(1) 15-19 2) 20-29 (3) 30-34 (4) 35-39

97. 1f the propensity to save in a country 18 givgn. b5f S=_ 0.3y - 50 and level of
investment is givenby 1=0.2y. Find the equilibrium income

oft, o 30 & @ g § = 03y - 50 ik P ww 1=02y & W A
H T HifIT

(1) 5000 (2) 1000 (3) 500 (4) 100

98. Which of the following relations are functional relations ?
(1) Y isthesonof X
(2) y=(x-3)2
(3) Consumption is proportional to income

(4) (2)and (3) are correct

P eyl § W W G EaY 8
(1) ¥ XT g

2) y=(x-3)2

(3) Fwim 3 % AR g b

(4) (2)3 (3) w2
(53) (Turn Over)
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99. Let R be the relation > from A4 = (24,68} to B=(3,5,7.9,10}. What will
be the domain and range of R

(1) Domain={2,4, 8}, Range={3,5,7)

(2) Domain={4,6, 8}, Range=(3,5,7}
(3) Domain={2,4, 6}, Range={5,7,9, 10}
(4) Domain= {4,6,8}, Range={7,9,10}

M R> TEYURA={24,68} 3 B=(3.57.9.10} 9 3 | R &1 =it 3k =
1A 7

(1) 3 ={2,4,8}, T@={(357)
(2) s = {4,6,8), T=1{3,57)
(3) W ={2,4,6}, W={570910}

4) 3w = {4,6,8), W ={7.9 10

100. f'(x)<0 and f"(x)>0 implies

(1) Value of function is falling at an increasing rate
(2) Value of function is falling at a decreasing rate

(3) Value of function is increasing at an increasing rate
(4) None is true
fi(x)<0 A f"x)>0 &1 a7f 2

(1) %o %1 ¥ Todt g X W i @
(2) %o &1 97 fireht g @ o v T 2
(3) %eH F 9F odt g T W 7@ W R

(4) + w07 9 7Ef &

(54) (Continued)
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101. Profit maximization output for a monopolist firm with C=aX*+ bX+d, as

cost function and p = - aX as the demand function (when firm fixes output)
willbe

e TR &, R @E we C=aX?+bX+d, WA %A p=p-aX
2, ol & arfrawm w IeareA B (AR Wi e R et R)

kl) Y (2) y2-F
a+a a+a
p-b __b-B

3) X =2(a+a) 4) X s b

102. If demand function is p=35-2x-x’ and the demand x, = 3, what will be
consumer's surplus ?

R AT p=35-2x-x AN x =3 }, IO ARF T 7 AW

(1) 0 2) 30 3) 27 (4) 25

103. If arithmetic mean and geometric mean of two values are 10 and 8 respec-
tively, find the values

(1) 12and 4 (2) 16and4
(3) 12and2 (4) 16and2

af2 2 gt & SO wed 3R TUNTR HreT S 10 3k 8 &, 7el & W I
Hikg

(1) 12 3R 4 (2) 16 3 4

(4) 16 3R 2
e — (55) (Turn Qver)
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104. Factor reversal test is satisfied when

cd IsHAadl Sife Gge Bt R W@
(1) FyxF=1 | (2) RyxQy =1
EPl‘Ii
' X&o = R}t )
(3) RyxQ,=1 (4) O = z o

105. If b _=0.5, r= 08 variance of y = 16, thcvalueofc will be
R b =05, r=08, y F fww = 16, 7@ o, F1 7= AW

(1) 2.5 (2) 6.25 (3) 6.4 (4) 10

106. A bag contains 3 black, 3 white and 4 red balls, Three balls are taken out from
the bag at random. Find the probability of drawing one black, one white and
one red ball.

T 9 | 3 Fel, 3 whg 3R 4 7 R E | Igeem 3R A9 H @ Reeh wrh #
01 F7eft, 01 7% 3R @& o g Pt I 6t wifdsran wma it |

4 s 7 3
M 7 @ 1 & = OFn
B
107. f:R - R is defined by f(x)—-e,+ = 1S
(1) ont-one but not onto (2) many-one but onto
(3) one-one and onto (4) neither one-one nor onto
&g
f:R— R vftfia } f(x)=eT;_—,1- g
(1) 9-37 g g, 7d (2) TZ-37 Wg AR
(3) FA-TA AT AL (4) 78 -39 ok 7 amg
(56) (Continued)
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08I x3+y3=3my.ﬁum % will be

qﬁxl+y’=3myﬁ% iFTI

sl (ay-+)

() -ax) (ay-x)
) (ay-x") (4) V- ax)

(09, | EXde  will be

X
(_E*g_{‘ﬁ &1 4 B
' X

i

(1) 2logx®+c ) _2_10311_'_0
(3) '(-lf*gz—x)i'w (4) 2(10gx1):+c

110. Function y=x’-3x*+5 hasa point of inflexion
(1) at x=~1 (2) 8t x=)
(3) at x=2 (4) at x=0
se y=x -3x'+5 @ AR ohada g R

(1) x=-1W 2) x=1W
(3) ¥=2 % (4) x=0 W

(57) (Turn Over)
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: 3
111, If Ar{z 1] then determinant of the matrix 4° - 24 will be

afg A=l:1 ﬂ ¥ Y A2 - 24 w1 wnforF F= we g

o
s

(1) 1 (2) 3
112, The rank of the matrix A=
(1) 2
(3) 1
12 3 1 %]
g A=0 1 2 -
0 2 4 2
(1) 2
(3) 1

113. The relation between minor——Mv and cofactor—

(3) § (4) 25
23 1 4] :
01 2 -1| is
0 -2 4 2

(2) 3

(4) Indeterminate
CORCR )

(2) 3

(4) afiefg

C# iSShOWnby

M, TnR-aw—C, &9 w5 Ao gw whi e §

(1) C, =M,

(3) C,=(-)"-M,

(2) €, =0+))" M,

(4) €, =-()" M,

(58)
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P14, Whet is (/,--{) in statistical analysis ?

(1) Class (2) Class limits
(3) Mid-value (4) Class interval
vt faema d (1,-1) | d ?

(1) i (2) =t dhmd

(3) T@-TFa (4) =i =

115. If Lorenz curve is a straight diagonal line, it shows that the distribution is

(1) Equal (2) Highly unequal

(3) Unequal (4) Unequal of low degree
af At a% T el T R ot 2z quim & R faeor

(1) awr R (2) wga v M}
(3) swnm R (4) % e R

116. Ifpoints on a scatter diagram DO NOT show any clear trend, we conclude that
(1) Variables are highly correlated

(2) Variables are positively correlated
(3) Variables are negatively correlated

(4) Variables are not correlated

R Rgy fm w92 Rrg #id we vafa off Zoit @ w oy Pt P & &

(1) =0 # 3= gea=y 8
(2) = # e EEE R
(3) = F HoenE TEEaY 2
(4) 0 % wwwary T8 R

{(39) (Turn Over)
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117, According to the empirical rule, approximately what percent of data shou!c &
within p+2o
FwaT T8 & 3FER, F a9& F fhaT Tawm K20 & &g g gifag 7

(1) 75 (2) 95 (3) 99 (4) 65

118. The grouped data is also called

(1) RawData (2) Primary Data
(3) Secondary Data (4) Qualitative Data
wfEa e e @

(1) safeepa stz (2) i st
(3) fadis s (4) TR e

119. Tic'k the correct :

wdl % fafza fiftw

(1) 4-B={x:xeAnxeB)
(2) A-B={x:xeAuxgB}
(3) 4-B={x:xg¢AnxeB}

(4) A-B={x:xeAuxeB}

f £Nn
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120, A good index number is one which satisfies

(1) UnitTest,

(2) Time Reversal Test

(3) Factor Reversal Test

(4) Time and Factor Reversal Test
0] gEEE a8 § i wge = d
(1) g whgm

(2) GHq ISHTETA Tl

(3) o IshrAal TaE

(4) BWG T@ e Ieshrgar v

(61) B-2,50C
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